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CLASA a XI-a: Probleme INTERFERENȚA LUMINII 
 
1. 

 
R:  a. i = 1 mm  b. d’ = 2,5 mm  c. x0 = 4 mm  d. i’ = 0,75 mm 
 
2. 

 
R:  a. D0 = 3 m  b. δ = 600 nm  c. Δx =3,5 mm  d. i’ = 0,75 mm 
 
3. 

 
R:  a. i = 1 mm  b. d = 4,5 mm  c. n = 1,5  d. dmin = 6 mm 
 
4. 

 
R:  a. 2l = 2 mm  b. Δϕ = 3π rad  c. i1 = 0,45 mm  d. x0 = 1,5 cm 
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5. 

 
R:  a. λ = 500 nm  b. δ = 1 µm  c. Δx =3,5 mm  d. n = 1,5 
 
6. 

 
R:  a. i = 1 mm  b. Δx =10,5 mm  c. Δx0 =1 mm  d. x = 3,8 mm 
 
7. 

 
R:  a. Δx =5 mm  b. λ = 500 nm  c. x0 =12 cm  d. a = 3 mm 
 
8. 

 
R:  a. i = 0,6 mm  b. Δx = 2,1 mm  c. d =0,2 m  d. e = 5,4 µm 


